Math Numbers and Operations 5_4
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Jacob has % of a sandwich.
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How much does he have left?

NI B

IN| N

o

00

Mary is baking 2 pans of brownies.
She needs 3.5 oz. of chocolate per pan.

How much chocolate does she need in
all?

A. 0.9
B. 0.6
C. 12

A. 6.10 oz
B. 7.0 oz.
C. 0.7 oz




$7.65 + $3.29 is about __

A. $11.00
B. $12.00
C. $14.00
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Which are equal?
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Deni dances 7.5 minutes.
Then she dances 13 minutes.

How many minutes does she dance in
all?

A. 20.50
B. 21.75
C. 22.25

12.

7.9 - 6.4 is about




13.
1 2 _
T
1
A1
B. 1
1
C.1+
15.
4 2 _
I
6
A o
10
B. -5
9
C. =

© 2013 University of Oregon

14.

w| =
o =

+

w
= o|d o]
+ 4+
|- o]la o|-

16.

Tom has $1.72.
His dad gives him $0.50.

How much does he have now?

A. $3.22
B. $2.00
C. $2.22



